Analogy

QUESTIONS

"

Direction (1 -12): In each of the following questions two pairs of numbers on either side of the sign "::" is given, out of

which one number in either pair is missing. Numbers in each pair are connected in the same way. Identify the correct number
which can take place the missing number.

1. 16:80:: 20: ?

(a) 100 (b) 90 (c) 80 (d) 70
2. 7:49::9:?

(a) 52 (b) 64 (c) 75 (d) 81
3. 2:8::8:1

(a) 56 (b) 40 (c) 64 (d) 110
4. 30:42::?: 84

(a) 60 (b) 58 (c) 62 (d) 66
5. 0.23: 0.0023:: 8 :?

(a) 800 (b) 0.8 (c) 0.08 (d) 0.008
6. 66571: 19834:: 57904:?

(a) 12345 (b) 67899 (c) 23519 (d) 74680
7. 32:17::7: 22

(a) 48 (b) 42 (c) 46 (d) 52
8. 169:7::196: 13

(a) 15 (b) 11 (c) 13 (d) 12
9. § : E s é ?

7 6 2

4 3 1
(a) 0 (b) 3 (c) 1 (d) 5
3 2
10. 5 1343 37
3 2

(a) 243 (b) V3 (© = @ 7=
11. ?:63::5:124

(a) 3 (b) 4 (c) 6 (d) 8
12. 4 .51 .57

(a) 6" (b) 6 (c) 7" (d) 7"
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Direction (13-25): In each of the following questions, two pairs of sets of letters on either side of the sign"::" is given, out of
which one set in either pair is missing. Sets in each pair are connected in the same way. Identify the correct set which can
take place the missing set.

13. HIJJKL:APT:?

(@ CRV b CQU (c0)BQU (d)BRU
14. ADEGBFH K:BACD:?

(@@ CDEH (b) CCFH () CEFG (d)CDFH
15. MMKO:??"NBAB:OABA

(@@MLPQ (b) NLLN (LLMP (d)NPLQ

16. adn:bKo:zXy:?
(a)ayz (b)AyZ (c)AY Z (d)aVYz
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17. ?DnnljhusfD:Abcdefghid:Badcfehgjl

(@) CommiitteE b)DmnkprsusD

() NmmljusufE (dEmokkgvreE
18. YVSTBAXW:QIOK:?

(@TNTN (b) VTSN (c)NTNT (dTTNN
19. ORANGEYBZMQO:?2QBZOOC

(@) BANANA (b) PAPAYA (c GRAPES (dQEHMDF
20. U P:W N::M M:?

(@) OK (b) PK ()OO (d PP
21. DONORALKLO:WOULD:?

(@ TIPRL (b) TLIRA (c TPRLA (d TLRIA
22. SHAPE?:MAIZEZIAME

(@) PAHSE (b) AHPSE (cHPASE (d)SPAHE
23. szorpm:yrnqlo:?ealmvgqg

(@)cxImtu (b)pfmost (c)bfjnrw (dbchijor
24. MANGO:LNZBMOFHNP:RADIO?

(@) OIDAR bB)QSZCBEHJNP

(c)QSZBCHJENP dQSZBCEHJNP
25. ?GFED:NOPQMLKJ

(a)IJKH (b)HIJK (c)JKHI (d)KHIJ

ANSWER - KEY




EXPLANATIONS

a);x:bx

d:x:x2

c): 8x

a): Palr are in ratio S5 is to 7
c) :100x:x
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(d): Sum of digits = 25

® ® N ooR Wb

11.

(
12. (b): a* :(a+1)*"
13. (@):+2,+2,+2
14. (b):+1,+2,+3,+4
15. (o) :+1,-1,+L-1
16. (d):+1,+1,+1
17. (@:+1,-1,+1,-1, +1,-1, +1, -1, +1, -1
18. (@) 1+3,+5,+5,+3
19. (c) : +10, +10, -1, -1, +10, +10
20. (@): +2,-2
21. (d): -3,-3,-3,-3,-3
(

22. a): 1st letter — 4th one
2nd letter — 3rd one
3rd letter — 2nd one
4th letter — 1st one

5th letter - SAME

23. (0
y r n q l4 0
O <
s z p m

24. (d): M%LN
A—11 7B
N—=2 5 MO

G -1, +1 FH

O—:2 NP
25. (b) : 1st, 2nd, 3rd and 4th letters of the 1%t group are moved 1, 3, 5 & 7 steps backward respectively to obtain the
corresponding letters of the 2nd group.



